

$$\textcircled{1} \left. \begin{aligned} \log_n^m = a \Rightarrow m = n^a \\ \log_{mn}^{mn} = b \end{aligned} \right\} \Rightarrow \log_{n^{a+1}}^{n^{a+1}} = b \Rightarrow \frac{a+1}{a+1} \log_n^{n^1} = b \Rightarrow \log_n^{n^1} = b \Rightarrow b = \frac{a+1}{a+1} \Rightarrow 1 < b < 2 \Rightarrow [b] = 1$$

$$\textcircled{2} y = \sqrt{\frac{n}{\log \frac{n}{r}}} \rightarrow n > 0 \quad \log \frac{n}{r} \neq 0 \Rightarrow n \neq 1 \quad y = \frac{\log^{(n^2-n-r)} e}{\sqrt{n^2-1} + 1}$$

n	0	1	$+\infty$
$\log \frac{n}{r}$	$-$	0	$+$
$\frac{n}{\log \frac{n}{r}}$	$+$	$+$	$-$
$\frac{n}{\log \frac{n}{r}}$	$+$	$+$	$-$

$$D_f = (0, 1] \quad \Rightarrow \quad \begin{cases} n^2 - n - r > 0 \Rightarrow (n+1)(n-r) > 0 \Rightarrow n < -1 \vee n > r \\ n^2 - 1 \geq 0 \Rightarrow n^2 \geq 1 \Rightarrow n \geq 1 \vee n \leq -1 \\ \sqrt{n^2-1} + 1 \neq 0 \Rightarrow \text{مقام مخرج صفر نشود} \end{cases}$$

$$\Rightarrow D_f = (-\infty, -1) \cup (r, +\infty)$$

$$\textcircled{3} r \log_n^a + \log_a^{\sqrt{n}} = r \xrightarrow{n=9} r \log_9^a + \log_a^3 = r \Rightarrow \log_n^a + \log_a^r = r$$

$$\xrightarrow{\log_n^a = t} t + \frac{1}{t} = r \Rightarrow t^2 - rt + 1 = 0 \Rightarrow (t-1)^2 = 0 \Rightarrow t = 1 = \log_n^a \Rightarrow \boxed{a = n}$$

$$\textcircled{4} (\log^{\frac{1}{r}})^n + (\log^{\frac{1}{r}})^n - \log^{\frac{1}{r}} = 0 \quad \log^{\frac{1}{r}} = 1 - \log^{\frac{1}{r}} = 1 - 0.13 = 0.87$$

$$\log^{\frac{1}{r}} + \log^{\frac{1}{r}} - \log^{\frac{1}{r}} = \log^{\frac{1}{r}} = \log^{\frac{1}{r}} = 0 \xrightarrow{\text{معادله درجه 1}} \begin{cases} n_1 = 0 \\ n_2 = \frac{c}{a} = \frac{-\log^{\frac{1}{r}}}{\log^{\frac{1}{r}}} = -\frac{\log^{\frac{1}{r}} + \log^{\frac{1}{r}}}{\log^{\frac{1}{r}} - \log^{\frac{1}{r}}} \end{cases}$$

$$= -\frac{0.87 + 0.87}{0.87 - 0.87} = -\frac{1.74}{0} = \text{عدد نامعین}$$

$$|n_1 - n_2| = |1 - (-\frac{1}{r})| = |1 + \frac{1}{r}| = |\frac{r+1}{r}| = \boxed{\frac{r+1}{r}}$$

$$\textcircled{5} \log_r^r = r, 1 \quad \log_r^d = \frac{1}{\log_d^r} = r$$

$$\log_r^d = 0, d \Rightarrow \log_r^d = r$$

$$\log_{1/r}^{1/r} = \frac{\log_r^{1/r}}{\log_r^{1/r}} = \frac{1 + \log_r^d}{1 + \log_r^r} = \frac{1 + r}{1 + r, 1} = \frac{r}{r, 1} = \frac{r_0}{r_1} = \boxed{\frac{10}{19}}$$

$$\textcircled{6} \log_n^d = 1, d \quad \log_n^r = \frac{1}{\log_r^n} = \frac{1}{1/r} = r$$

$$\log_n^r = 1, r \Rightarrow \log_n^r = \frac{1}{1/r} = \frac{1}{r} = \frac{d}{n}$$

$$\log_{1/d}^{1/d} = \frac{\log_n^{1/d}}{\log_n^{1/d}} = \frac{1 + \log_n^r}{1 + \log_n^d} = \frac{1 + \frac{d}{n}}{1 + 1/d} = \frac{\frac{1}{n}}{\frac{d+1}{d}} = \frac{1}{n} \cdot \frac{d}{d+1} = \boxed{\frac{13}{20}}$$

$$\textcircled{7} \left. \begin{aligned} \log_n^{1/n} = m \\ \log_n^{1/n} = \frac{\log_r^{1/n}}{\log_r^{1/n}} = \frac{1 + r \log_r^{1/n}}{r} \end{aligned} \right\} \Rightarrow \frac{r \log_r^{1/n} + 1}{r} = m \Rightarrow \log_r^{1/n} = \frac{r(m-1)}{r} \quad (I)$$

$$\log_{1/r}^{1/r} = \frac{\log_r^{1/r}}{\log_r^{1/r}} = \frac{r + \log_r^{1/r}}{r} \xrightarrow{(I)} \frac{r + \frac{r(m-1)}{r}}{r} = \frac{r + m - 1}{r} = \boxed{\frac{r+m-1}{r}}$$

پارسی جانتی/ یا زنیسر A

$$\textcircled{A} (0/r)^{rn-1} = (1/r)^{rn} \Rightarrow (r/r)^{rn-1} = (r/r)^{rn} \Rightarrow (r/r)^{rn-1} = (r/r)^{rn} \Rightarrow (r/r)^{rn-1} = (r/r)^{rn}$$

$$\Rightarrow (r/r)^{rn-1} = (r/r)^{rn} \Rightarrow -rn+1=rn \Rightarrow rn+r-1=0 \Rightarrow \begin{cases} n_1=-1 \\ n_2=-\frac{r}{r} = -1 \end{cases}$$

باقی به دامنه عبارت گذاریم $(n > -\frac{1}{r})$

$$\log_n^{(rn+1)} = \log_n^r = \log_{r^n}^r = \frac{r}{r^n} \log_r^r = \frac{r}{r^n} \Rightarrow \boxed{\frac{r}{r^n}}$$

$$\textcircled{9} \left. \begin{aligned} \log_r^r &= a \\ \log_n^b &= \frac{r}{r^n} (1+a) \end{aligned} \right\} \Rightarrow \log_n^b = \frac{r}{r^n} (1+\log_r^r) = \frac{r}{r^n} (\log_r^r + \log_r^r) = \frac{r}{r^n} \log_r^r = \log_{r^n}^r$$

$$\Rightarrow \log_n^b = \log_n^{r^n} \Rightarrow \underline{b=r^n}$$

$$\log^{(r^n-1)} = \log^{(101-1)} = \log^{100} = \boxed{100}$$

α و β نسبت تمام معادله درجه دوم هستند

$$\textcircled{10} \left. \begin{aligned} \frac{1}{\alpha+\beta} &= \frac{1}{5} = \log^r \Rightarrow 5 = \log^r 10 \\ S &= \frac{b}{ra} = \frac{b}{ra} \end{aligned} \right\} \Rightarrow \frac{b}{ra} = \log^r 10 \Rightarrow \frac{ra}{b} = \log^r \Rightarrow \frac{a}{b} = \frac{1}{r} \log^r$$

$$b+c=ra \Rightarrow c=ra-b \Rightarrow \frac{a}{b} = \frac{1}{r} \log^r \Rightarrow a = (\frac{1}{r} \log^r) b \quad (I)$$

$$\stackrel{(II)}{\Rightarrow} c = \log^r b - b = b(\log^r - 1) = -b(1 - \log^r) = -b(\log^r - \log^r) = (-\log^r) b \quad (II)$$

$$\frac{c}{a} \stackrel{(I),(II)}{=} \frac{-\log^r b}{\frac{1}{r} \log^r b} = -r \log^r \Rightarrow \left(\frac{1}{\sqrt{r}} \right)^{\frac{c}{a}} = ((r-1)-r) \log^r = (r-\frac{1}{r}) \log^r$$

$$= \log_r^{r^{\frac{c}{a}}} = \log^{\frac{c}{a}} = \boxed{\sqrt{5}}$$